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Name 
 Date 
 Class 

Decimal Ops
STUDY GUIDE ( CALCULATOR portion


for use after Investigation 1 & 2
1. Marie wants to decorate a gift box with ribbon. She measures four pieces
that she has with a ruler. They are 62.8 centimeters, 52.9 centimeters, 

28.4 centimeters and 97.9 centimeters long. Marie needs 300 centimeters of 
ribbon for the box. Does she have enough? 








Circle one   YES   or   NO

 Explain how you know.
2.
The grocery store is running a sale on two different brands of iced tea.
Snapple brand is 5 bottles for $8. The Lipton brand is 6 bottles for $10.
a.
What is the unit rate (price per bottle) for each brand?
         Snapple unit rate: $ ____________ per bottle     Lipton unit rate: $ ____________ per bottle

b.
 Which brand is a better deal? 
___________________________________
c.
For each brand, what does it cost to buy 23 bottles of iced tea?

     Snapple price for 23 bottles ___________________Lipton price for 23 bottles is 
__________

3a.
Marin and Ravi found a recipe in a 

cooking magazine. They wonder how big the 

bowl needs to be to hold all of their ingredients.

 Circle the expression, Marin’s or Ravi’s, that will help them find out how many cups the glass bowl will need to hold? 

              Marin writes:



Ravi writes:

       2.75 – 4.125 – 5.5 – 3.875


2.75 + 4.125 + 5.5 + 3.875
b.
Marin and Ravi want to double the recipe., circle the answer (A B C or D) 
    that will help them find out how many cups the new glass bowl will need to hold?.

          Marin writes:

          2(2.75 + 4.125 + 5.5 + 3.875)

        Ravi writes:
        2 x 2.75 +  2 x 4.125 + 2 x 5.5 + 2 x 3.875
A. Marin is correct

B. Ravi is correct
C. Both Marin and Ravi are correct
D. Neither Marin nor Ravi are correct
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STUDY GUIDE – NO CALCULATOR 

4.
For each problem, find the exact sum or difference.
a.   0.68 + 3.9


b.
5.3 – 2.48
5.  For each pair of problems, solve and circle the number sentence that gives the larger answer?  Show your work.  If the answers are equal write the word equal.
a.
  11.909 + 19.09

or

19.05 + 11.918
b.
  36.01 – 32.704

or

4.021 – 0.918
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STUDY GUIDE NO CALCULATOR
(continued)

6.
Write a complete fact family for each problem.
       a.  28.4 – 6.3 = 22.1

b.
4.7 + 8.11 = 12.81
          ________________________________________


________________________________________

          ________________________________________


________________________________________

          ________________________________________


________________________________________

           7.    For each problem, put decimal points in the correct places to get the sum or difference. 

a.   8 2 + 4 5 2 = 12.72


b.   4 2 0 8 + 5 8 = 42.66

c.   1 3 1 – 3 5 = 12.75

d.    6 7 4 – 6 8 5 = 60.55



Chocolate Chocolate Chip Brownies�


•	2.75 cups of water


•	4.125 cups of oil


•	5.5 cups of chocolate chips


•	3.875 cups of flour











